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1 (28%) Suppose thal § has a negative darivative for all velues of x and jhat £1} = Let
H(x) = [ Ao
Which of the following siaternents musl be true 7 (iive reasons for your answers.
b is o twice-differentiable function of x.
fi and S are both CONLNUCAIS.
‘ﬂmgraphufhhasahunmﬂal ranpent at x = 1
# has a local maxirumat x = L.
¥ has & local minimum atx = 1.
ThEgIaphﬂfths an inflechon pont &atx = 1.
The graph of 2~ crosses the axis atx = L.
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2 (129%) Evaluate
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3 (172%)Find the area of the surface generated by revolving the curve y = 23, 1 £ = 1,
ahoud the x-axis.

4 {12%) Is there a smooth curve ) = fix) whose length over the interval @ € x < @ i5 always
Jia 7 Give reason for your answer '

B {129} Evaluale the integral

!
II} j-u (1 +x1+f]1tiﬁf}'

B (12%) Given the foilowing aquaton’
Lo e =

Find the value of a .

7 {12%) Find the volume of the elhpsmd
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where g, b and ¢ are positive numbers.
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